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Please read each of the following instructions carefully before attempting questions.
SW T A T Frefarfea feeil ) s geurigds 08 |
1. There are EIGHT questions printed both in English & Hindi.
THH 36 WA § S ST SR fE 9§ =y ¥
2. Candidate has to attempt FIVE questions in all either in English or in Hindi.
IHICER 1 |/ U qTA o e S A fedt § 2§
3. Question No. 1 is compulsory. Out of the remaining SEVEN questions, FOUR
are to be attempted.
W G 1 e g1 9 9E we # § uR g ® W R
4. All questions carry equal marks. The number of marks carried by a question/
part is indicated against it.
il g & gEAA $F T TS AT/ B ga oF Ses 9wy R u ¥
Write answers in legible handwriting. Tach part of (he question must be
answered in sequence and in the same continuation.

gured foemee § St fod | wvT & Y% o %1 S SH %W A fea s =feu

Ot

6. Grapb/illustrations, wherever required, may be drawn/given.
TR/ faerEteRtor, SiEf e, sifehd SR §
7. Attempts of questions shall be counted in sequential order. Unless struck off,

attempt of a question shall be counted even if attempted partly. Any page
or portion of the page left blank in answer book must be clearly struck off.
99l ® I HT MO FATIR ®T SN | AifeE w9 ¥ Gu T gwE @ oW w5 o
A S St A $q FrR AL w0 A B T FE TS i g & 9w ) e
F1e IS |

8. Re-evaluation/Re-checking of answer book of the candidate is not allowed.

SR %1 I-GIEHT 1 [THeAwA/YA: S H FAEA A6 B
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1. Answer the following questions in brief : 5x4=20
fr wed @1 |faa WS
(@) Why have Indian manufacturing industries had limited impact on

employment generation ? Discuss.
T faftor Sgrll 1 TR g W difid goa = @1 § 7 SAredl SIS

(b) Discuss the reasons why MRTP Act was replaced by the Competition

Act, 2002 ?

TS srfufrm w whrerat stfufram, 2002 g0 wfaeenfid f3 s &SRO
] AR B |

(¢c) Briefly discuss the important features of the Goods and Services Tax.
5] X Far FX w! HEequ fovmare W @am d =l wifed )

(d) Explain the process of privatization experienced by Indian economy during
the period of economic reforms.
el Hurl =1 sty & S gEdrE sefeaed §R1 syE @ T8 TSR
® wiwar w1 A SIS |

2. How far do you think indirect reforms such as exchange rate reforms and
lowering of industrial tariffs impacted Agriculture growth ? List some of the

challenges that need to be met if agriculture is to be taken forward ? 20

o fFg g a% o ¢ T fafma v # gur wg simfies R &) &8 F3
3 sy gER 3 FY fawm w gl e 2 af w5 w el @ S g
A fwa-fem Afadt &1 9 0 F sEvEEa € 7

ASME-21-ECO-II 2




3. Do you agree that the rate of poverty reduction has increased in the post
reform period than in the previous thirty years prior to beginning of economic
reforms in 1991 ? Outline some of the points raised about the estimation of

poverty by the Rangarajan Committee. 20

T AT T WM Y WA & fF 1991 H o guil ¥ v diw gl w1 qorm
GUR 3@y o o5 % qag A T H i wl ) § gfg ¥ 2 T 9fafd gm
e & e % aR H I[W M H/ fage W w9 R i

4. “The service sector has not only outperformed other sectors of the Indian
economy, but has also played an important role in India’s integration with

world economy and the capital markets.” Discuss in detail. 20

a1 &9 7 7 heldl YA AdeFawe & 37 aE § 9g yeyH fwen & wfew fava
srefederee] AR ISt AR & WY 9RG & THiww o meeyel yfien faE 30
fogga = &g |

5. It is claimed that the nature of inequality in India was stable during 1970s
and 1980s but different picture emerges after 1990s ? Explain. How correct
would it be to draw some causation with changes in economic policies that

happened post 1991-92 ? 20

T% T fhar Sa € fh 1970 TH 1980 & QU & SR WRA # SHEAl F YFHA
e ot 90 1990 & Q9 & AR O TR Il § 7 AR FITUI 1991-92
& 9% g3 e Aifqdl § sgoma & Wy 9 FRoig G #) sifwd S e
el & ?
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6. Discuss the impact of Foreign Direct Investments (FDI) and Foreign Portfolio
(.

Investments (FPI) inflows on Indian Economy. List some of the policy options

that the government needs to pursure to boost more inflows ? 20

g stefemacan W faeslt woaw e (Th. €. emE.) 3R favvh dRwifer faw
(uh. 0. o) & vl F s Fifw) Aifa $ o fawedl w1 gl SR Hia
T IR F TH TEE F) AN A dgEn a7 &l Evawdl § 7

7. “India should adopt a services-cum-manufacturing rather than a services-
versus-manufacturing approach, where the two-way linkages between the

sectors are strengthened.” Discuss. 20

“ e 1 - -fafraio gfesm =1 s Jar-wg-fafmio wrEfa soar! =ifeg,
&l &5 % s G-aw He" Aoed @ g1 wd Hifd |

8. Provide an overview of the macroeconomic developments in the Indian economy
from a medium-term perspective. What policies do you think went wrong in
last one decade and review the problem areas that need policy attention ? 20
gt srderary H weoaneaTe uftien # onow onfdw fawm &1 v afa faero
AfSd | frsd T v # U IR HHA-wiE Tl e ®@ w37 s
1 gten HIfed 59 W Fifara e 33 F sTavEsd € 7
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